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R7.5.19 |I2ALA At By = @
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R75.19 |FrAy 4 ) 10 @
R7.519 |Fv¥_Y Bt Y = @
R75.19 [RLiys At Y = ®
R7.5.19 |Ra& (F) Ll Y —R ®
R7519 |fa¥ At Y = ®
R7519 [L2X #4fE Y 10 @
R7.519 |LAX & Y = @
R75.19 |Ep5Y(R—3—) e #iY 504
R75.19 |Zp5Y(H) 4 By 5
R7.5.19 |Z®5Y Ak Y =
R7519 [M(EFbe a5t By = )
R7.519 |#d &% Y =
R75.19 |k<k B By 4 @
R7.5.19 [r=h Ak Y = @
R75.19 |[E—<> &% Y = @
R7519 |SPRAES aF iy -
R75.19 |IFhi L B Y 10 ®
R7.5.19 [[FhirLe Ak Y = ®
R75.19 |f-Fha= &% By =
R7.5.19 |EL&IA FRhE) Y —=R
R7.5.19 |EL&IA &% Y -
R7.5.19 |&ELUL V=T F4 Y 0.1 ®
R75.19 [£LL =l a5t By = ®
R75.19 |ZDELF &% iy -
R7.5.19 |S#LSHL FoRE Y 0.1
R7.519 |37iL&HL =1 Y -
R7.5.19 |&t #iY -
R7.5.19 |#&t ) = i RE

1/4




X E & B R K M K # & &
STHESA19H
FHAB mf FEEH |FERSIOAE| #HEW |28 (k)| BIEA) B ([) =B (M) &% No.
R7.5.19 |ZL\CA R Rt 0.5 10 1242 1242 621 ®
R7.5.19 |2\ A FIE Haxt 18 10 1512 1296 972 ®
R7.5.19 |2 A a5t ARt 5.2 @
R7.5.19 [IZACA (5] fizbsl 10 @
R7.5.19 [IZACA S fizbsl 14.9 10 1728 1404 1080 @
R7.5.19 [IZACA At Lizbs) 14.9 @
R7.5.19 [[&<ELy B34 fizbsl 5.3 15 1080 864 ®
R7.5.19 |[&<ELy At Lizbsl 71 ®
R7.519 |F4Rw FEIN #axt 6.2 10 756 756 432 @
R75.19 [FvRwy 5] fizbs) 34 10 702 216 216 @
R7.5.19 |F¥RY &it Haxt 25.6 @
R7.5.19 |RoL2YD TRk fizbs) 02 —=x 108 97 ®
R7.5.19 |RoL2YD BE fizbs) 0.1 —X 140 119 86 ®
R7.5.19 |RoL2YD At Lizbsl 1.0 ®
R7.5.19 & (FH) 5] fizbs) 05| —x 173 65 65 ®
R7.5.19 |H&F¥(H) P34 fizbs) 0.5 5 3024 2052 1944 ®
R7.5.19 |Ha&¥(H) FE fizbs) 1.1 5 3240 1620 1512 ®
R75.19 |fa& aF Lizbsl 3.1 ®
R7.519 [L&X P34 fizbs) 10 @
R7.519 [LAX 5] fizbs) 10 @
R7.5.19 [LAZX aF Lizbsl 5.4 @
R7.5.19 [Zp>5Y(X—3—) 5] fizbs) 03| 50& 2484 972 864
R7.5.19 |Z®p3Y(8) BE bizba 6.6 5 3024 1728 1404
R7.5.19 |Z®p3Y(8) B bizba 0.8 5 1620 1188 972
R7.5.19 |ZEp>Y aF Lizbsl 7.6
R7.5.19 |M(FHo pE LEES 10 ©
R7.5.19 |MEE N-Z Lizks) 35 10 2700 1944 1836 ®
R7.519 |MFbw &% Xt 35 ®
R7.5.19 |%9 (%) 250 Lizks) 0.6 5 2160 1944 1728
R7.5.19 |79 (&) X Lizks) 5.3 4 1728 1296 1080
R7.519 |%9 aE Lizbs) 6.4 ®
R7.5.19 [r=k 5] Lizks) 1.3 4 3780 1296 1080 (1)
R7.5.19 [r=<k S Haxt 42 4 1188 1188 1080 (1)
R7.5.19 [r=k &% Lizbs) 55 ()
R75.19 [E—<> P34 Lizks) 23| 015 92 81 81 @
R75.19 [E—<> &% Lizbs) 23 @
R7.5.19 |X¥ZAES ($8) =S Haxt 2
R7.5.19 |X¥ZXAES aE Lizbs) -
R7.5.19 |[FhirL& 5] Lizks) 2.3 10 4104 3564 3240 ®
R7.5.19 |[EhL L& BRS Lizks) 21.3 10 3564 3564 2916 ®
R7.5.19 |[EhirL& &% Xt 255 ®
R7.5.19 |t=-Fh¥ Nl Haxt 16.4 20 3780 3240 3024
R7.5.19 |t=Fh¥ &5 Haxt 15 20 3780 3240 3240 ®
R7.519 |f=FHE =1l ARt 19.2 @
R7.5.19 |EL&SH E#fA %t 02 —=x 124 119 108
R7.5.19 |EL&5H% CL ARt 0.2
R7.5.19 |4#LUL =1F 5] At 0.3 0.1 162 108 86 ®
R7.519 |4 LU =T A% ARt 0.3 ®
R7.519 |ZDELT 354 At 0.4 0.2 70 59
R7.519 |ZDELT A% ARt 0.4
R7.5.19 |S%L&HL rH fizbu 0.3 0.1 79 79 54
R7.5.19 |S%L&HL FRRE Lizbol 0.2 0.1 76
R7.5.19 |S%L&HL aF Lizbol 0.4
R7.5.19 |5t Lizbol 133.8
R7.5.19 |#&t Haxt 133.8 iR RE
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R7519 [#MA (1vHR) 4 ) 0.4 @
R7.519 |#&H A &t Y = @
R7.519 [YACT &t Y = @
R7.5.19 |Uh &t Y -
R7.5.19 |T39LF At Y -
R7.5.19 |LWBZ (FLIEF->R) FhiE Y 0.26 ®
R75.19 |LWBI (ELUE) FhiE Y 0.26 ®
R7.5.19 |L\ BT &% Y = ®
R7.5.19 [AQ2 (F—ILR) B By 8 @
R7.5.19 |40 &t Y = @
R7.519 [F L\ &t Y = ®
R75.19 |FIL—~1)— 5] Y 0.1
R7519 |FTIL—A~1)— At Y -
R7.5.19 (&t Y -
R7.5.19 |#&t Y = M REe
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R7.5.19 |&#HA (/\DR) 4] Lisbol 0.2 0.4 756 702 648 @
R7.5.19 |#hA a5 LisEs) 0.2 @
R7.519 (VAT (P33 —ILK) |F Lizks - 10 @
R7.5.19 |YAZ (Y2 5L) B Lizks - 10 @
R7.5.19 (AT (5L) B Lizks 19 10 6,480 5,724 5,400 @
R7.519 (VAT (L F/3—ILR) |F A% 0.4 10 4,860 @
R7.5.19 |YAZ At Lisbsl 23 @
R7.5.19 (Ut BERS Lizks 0.1 0.25 540 454 432
R7.5.19 (U1t At Lisbsl 0.1
R7.5.19 |T32LTF(\IR) [ITE1] A% - 2
R7.519 (75T 7 = X -
R7.519 (LB (HIIF->~R) Bl A% 07| 026 324 270 140 ®
R7.519 [LWET (EHUE) Bl ks 04| 026 346 140 140 ®
R7.5.19 |L\bT L X 1.1 ®
R7.5.19 [AOY (7—ILR) Bl A% 0.1 8 10,800 @
R7.5.19 [AAY (FYTR) R A% 0.2 5 3,024 2,592 @
R7.5.19 [AAY (FYTR) RER A% - 5 @
R7.5.19 |AQ(ZFD1h) pi3d Lizks) 0.1 5 3,456 2,916 2,484 @
R7.5.19 (A0 (ZDHh) REAR A% 0.2 5 3,780 2,592 @
R7.5.19 |*AY L X 0.9 @
R75.19 |4 L3AMUAHR) BER Haxt 43 15 7,020 5,400 4,860 ®
R7.5.19 [ L h L X 43 ®
R7.5.19 |TIL—~1)— FrhE A% - 0.1
R7.5.19 |FIL—~1)— L X -
R7.5.19 |it Lisbs) 8.9
R7.5.19 |#a&t Lisbs) 8.9 min:RE
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